N of associated (recoToSim) looper tracks vs dxy

N of reco track vs dxy | N of associated (recoToSim) tracks vs dxy

2] 1%} [%] (%]
X x X X
Q Q [} Q
g g g g
- o ) @
E & g
a3
----------------------- g lo
1
o
©
24 24
!
0.9 e :
0950 -15 -10 -5 20 080 -15-10 -5 0 5 10 15 20 oS5 iE i s 0 5 101520
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)

| N of associated (recoToSim) looper tracks vs dz |

N of reco track vs dz [N of associated (recoToSim) tracks vs dz_]

1] 1] %] (%]
X X X X
o Q Q Q
8 g g 8
B 3 2 )
E 8 T

=

3

°

° b ° ° o
5 } { ] 5 5 5
24 @ o @

1 “ m ------ H-} }m} ; ~
o : 09 (illesilitiedfib] 09 : : : : L
=30 —20 -10 10 20 30 530 -20 -10 0 10 20 30 : —%O -20 -10 0 10 20 30

3
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


